MTHI132 - Examples

3.7 Problems

Example 1. A baseball team plays in a stadium that holds 55,000 spectators. With ticket prices at $10,
the average attendance had been 27,000. When ticket prices were lowered to $8, the average attendance
rose to 33,000.

(a) Find the demand function, assuming that it is linear.
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(b) How should ticket prices be set to maximize revenue?
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Example 2. )
Find an equation of the line through the point (3,5) that cuts off the -
least area from the first quadrant. .
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Example 3.

Ryan is at point R on the shore of a circular lake with radius 2 mi
and all of a sudden really has to use the bathroom which is at point B
diametrically opposite R (see the picture to the right). He can run at
the rate of 8 mi/h and row a boat at 4 mi/h. How should he proceed?
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Example 4. A rectangular storage container with an open top is to have a volume of 10 m®. The length
of its base is twice the width. Material for the base costs $10 per square meter. Material for the sides costs
$6 per square meter. Find the cost of the materials for the cheapest such container.
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